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Remove existing verandah
structure completely and build
new one as per the details supplied

Remove existing damaged roof structure

completely and replace it with new.

NEW ROOF
on 114x38mm SA Pine timber trusses on

0.6mm Pre-painted corrugated
metal roof sheeting on treated
76x50mm SA Pine timber purlins
114 x 38mm wall plate tied to Wall
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North Elevation

Scale 1:100

All Existing face brick external

walls to be jet cleaned to remove

loose dirt and prepare for brick dressing
Remove existing damaged roof structure

completely and replace it with new.

NEW ROOF
loose dirt and prepare for brick dressing

on 114x38mm SA Pine timber trusses on
114 x 38mm wall plate tied to Wall

good to fit new Aluminium window,

walls to be jet cleaned to remove

Break down existing wall and make
refer to window schedule

0.6mm Pre-painted corrugated
metal roof sheeting on treated
76x50mm SA Pine timber purlins
All Existing face brick external

South Elevation

Scale 1:100
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